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Note :

feuuit

Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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o Attempt All que;tioné. _
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' Section A |
(v ‘a1
State Whether the followi'ng'statemeﬁts are true or false (Do any five) : 5
ﬁﬁﬁﬁwﬁﬁﬁﬁf&faﬁmmmm%(ﬁéﬁam) :
(i | Logic is the study of methbds for evaluating a:gum;:nts.
e R # e W ek W e
| , ~PTO.



(2) . 5234
. (i) All women are'politiciané"and ‘some women are politicians’ are contrary 10 each

dthcr’. ‘ _ | |
F‘ﬂ ol Torif &' @ ‘g ford Tortfer %ﬁﬁl@ WA
faudia § | | |
| (iify Contraposition of 1 proposition is valid.
| whrafa m'qﬁqﬁaﬁqéﬁl 20
(iv}) TheAun.ive.rsal‘ i)r-opositionld.(')esn’t have existential importr. ’
.(v) 7. In the proposition ‘Some students ar‘e players’ both subject and predi'c.ate terms

are distributed.
‘% frad faerdl § v s § v am fadm O w s
%,;'- | | L
(vi) A valid argument can have true prerﬁises and félse conclusion.
@é&gﬁarﬂaﬂaﬁaﬁwwqﬁﬁmmﬁm% !
' (vf-i) A syllogism always has two premises..
o g W QR T W
(viti) AOO is a valid mood in Figure I *

g 1 # ACO e ‘_(11@) ECl |'
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() Fill it the blanks (Do any five) : | s

fom i W o A (@ A

| 0

@

iir)

W)

v)

Conversion is........ceeceovevrvonr ..., inference.

ﬁﬁamﬁmﬁwwa@mﬁﬁsﬂtﬁaﬁm

& - A E

Middle termmust be ..o, in syllogistic argument
w fade Wﬂ'ﬁﬁﬁ ‘ﬁ[ HER Qg s T Y
AEE 1S i mood in Figure ]I

AEEﬂ@ﬁIHﬁ ............................... W(T&')%I

Obverse of | proposition is .........c.cceceiiereiinnnns

'(vi) The standard form of ‘Few ma'ngoés are not yéll'ow’ - SR -
mﬁmﬁﬁqﬁ%wwaﬁ%wm """"""" B I
(vii) Conversion of .......... reereissan .. PIOPOSItion is not Valici.

......... wyafa & qﬁat-h a9y :l—Eﬁ%l
PTO.
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(¢) Answer bl;ieﬂy (Do any -ten)‘:' | ' : o 10x-252-() .
i s A (6 7@ R ¢
(t:) F,xplain the difference betwe;en Sentence e_md Proposition.
(i Why the convé.rsi_on of ‘A’ 1s ‘' ?
‘A o e W& B § 2
(ifi) | Define the fallacy of illi.cit major.
e g ﬁqﬁw difey |
(iy) Define deductive reasoning. |
(») State the obverse of '_‘No organic compounds are fnetal’.
| (vi) ‘State t_he conv;:rse of ‘No saints were martyrls’.

‘w7 vEe W Y, oE vhakh w9 swEy |
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(\fii)' ‘What do you understand by immediate inference ?

| sorEf A R STOE E OSWE ¥ 7

(viii) When ‘1" proposition is true what is the truth value of corresponding A proposition .

5;1-1d why ?
@ Sfefa S A R A A SRS T e A d R
s w7 | |
.(L{) - What 1s the significance of middle term in the categorical syllogism ?
w Frw R A e W w w wee d R |
(x) ~Why can O pioppsition not be converted ?
.o-xrﬁmﬁa &1 vﬁ—crcha:hﬂﬁ A wEw ¥ 2
- (J‘Ci) Is AEO a valid mood in First Figure ?
wuw-ﬁwﬁiﬁ AEOQ 34 3w (q8) § ?
(xii) - What'. do yol-x understand by'Qualify énd'_Quantlity of a prqp'osit‘iqnl‘?' -

Yeafa & T T WRE A a9 @ § 2.

PTO.
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._(xiii) Namie the fourlo_pp_o‘s_iti(')n .relatic.m explained. by. Traditionéi_ équ?l;e .of»opposific'm_.

TeRAL ﬁﬁuaﬁm redad 4 fqdu el %‘vm:{ amgqi
(xiv) Reduce into st'andardfo_rm-of the following :

Frefefan & e STFR - :

{a) Logic gtudents argue with Jr:.aciiit.y.

{(h) Few ;nathérhaticiahs are scientis§s: 7

e e A €

(xv) Give the coﬁtrzid'iétOry of the fouou}jng :

'(a) S;)mé, books are expensive.

(b) All soldiers are brave. _

wfrfwﬁa'ef@% |
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'_'-Ans.w.er any Ihfeé_qikélions: ‘ | . - : _' : Ix5=15
Fordl A i o AR :
(i) Define ﬁgures and mc;od in categorical syllogism. Give illus&ations.
Frcte s s s =) <o S | e AR |
(i) Ex:plain and illustrate rules of éénversion.
et @ frd # e afe e Sk
(i) | How the modem-a'pproach to opposition of propositién is aj'ol"[ to the Trag.ii:tional squa:ﬂe'
' ofopposition‘? : | |
f‘m"@l yER ayfE Y W e e Th slz?ﬂ% 7am§q1
(iv) Caﬂ ;?x valid categoﬁcal .sylloéism have a term d'_istn'buted in conclusion but undistribqted
'in premise 7 Ekplai_n \;\rith example.
T e 4w EgRE | T fa ¥ 5w fron ﬁ'a‘am a :
{v):' Write a short note on .‘Distributi_o-n of Termé’.
o B e W T ﬁm'fzquﬁﬁf@q_i |
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~ Putany one of the following iﬂto standafd form of catego_rical- s'yllogism'and indicate jts F igure

and Mood and test its valldlty usmg six rules : : _ O 4+1+1=6

ﬁﬁmf@aﬁ@mqmgﬁaﬁmmmﬁﬁamﬁvﬁaﬁa
mwwmﬁ?mwma ﬁﬂﬂ‘raﬂmﬂﬂmg’q
sﬂaﬁéwﬁqﬁwaﬁﬁq

" () No musicians are astronauts, all musicians are baseball fans; consequently no astronauts

are baseball fans '

ﬁé?ﬂwﬂﬂwmﬁa?ﬁfﬂﬁ% H‘lﬁwﬂwéwa%ﬁﬁ%ﬁﬁﬁéa
ﬁﬁmﬁaﬁ@aﬁ?ﬁ%

Or
(3t

() No mechanics are writers and some photographers- are writers. Thus some

photographeré are mechanics.

ﬁéaﬁﬁ%ﬁma@aqﬁ%ﬁﬂmmé@maﬁ% | 37 wnﬁaum

Test the validity and invalidity of any two o'f the foliowing S 2+2'=4 :
Frfefian & fodl 2 9 Sva/svm w1 e B |
() AAA—3. |

(i) 1EO—4

(i) 1AI—2. -
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Identify andrexﬁlain'the informal fallacies committed in the following passages (Do any

five) -

5x2=10

ﬁw&f@amﬁaﬁmﬁﬁeﬁﬂ@ﬁmmmﬁm(ﬁ%mﬁm)

@

G

i)

- W)

Each player of this cricket team is an excellent athleie Therefore the team as a whole '

is excellent. | |
frde M T A w T feerdl 4 aEw ¥ 1 oW 0 AW @

Napoléon became a great emperor because he was so short.

?rq‘rmq@neﬁ W S i e B e |

Noted cricketer Sachin Tendulkar recommends that you buy MRF tyres. So we should .

buy MRF tyres.

--mmwa@maﬁm%fmm@ STR'EEFEWI

TiE 1 oE: T T IR TH AW 'é’f Bl Hrﬁgq
Have you finally started takihg your studies seriously ?.

s T G A Ted R R T R E
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10 )' y ._ 5,2-34 _.
(?) The objec;t of war is durablé peac';.-,_thhs, _soldiérs .are the best pegce makers.
(vi) -Listen. to my commands; otherwis;e ym}x will bf;;' be_hi_n-dtl;e b;ré.
R oaRe A S g were & @ e
(vii) Can you ’seﬁd a pe.rson to jail, ﬂl'é fathér—-qf ﬁ\;e children whc-)_ lost their fnothér only'r |
| two weeks ago ?7 . |
m,ﬁmmmam SRR R T
6. Explain and illustrate any rwo o_f the followiﬁg: ' B - 2><5"4..:1;) _
Frefofn & 3 fed & 1 dee e A :
@ éomplgx question . | |
(i) - Argument from Ign_orance g .- | : T
ity . F'al'iacy of composition.

534 , 0 T 300
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